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a) sin x (csc X - sin x)

sin x(csc x—sin x)=sin x csc x—sin2 x=sin x(1sin x)—sin2 x=1-sin
2 X=C0S2 X

b) 1+4sin xcos x+cos x1+sin x

1+sinxcosx+cosx1+sinx=cosx(1+sinx)+sinx(1+sinx)+cos2xcosx(1
+sinx)=cosx(1+sinx)+sinx+sin2x+cos2xcosx(1+sinx)=cosx(1+sin
x)+sinx+1cosx(1+sinx)=(cosx+1)(1+sinx)cosx(1+sinx)=1+secx

c) sin (m2—x) sec x

sin(m2—x)sec x=cos x(1cos x)=1
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11+4+cos x=1-cos x1—cos2 x=1—-cos xsin2 x=1sin2 x—Ccos xsin xx1sin x=csc2 x—cot x csc X

2 lgio 1/2



nalaia 52 e

g9 o $aml wllz]
wslall @ulsill asio 50 ¥ i oe et

a) cot X cCoS X = CSC X - Sin X

114+cos x=1—cos x1—cos2 x=1—cos xsin2 x=1sin2 x—Ccos xsin xx1sin x=csc2 x—cot X csc X
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